MAH GAT AMB AMB	le : 1110683	I CONVEYOR SYSTEMS PVT.LTD. 19 VILLAGE MULSHI	67000	000369 26.08	3.2021
			Amendr	ment-2 0	
01	P112912	HEAD UNIT ASSEMBLY Part Number:NBH-600D/109059 Drawing number : 3E1.BE01 M/s Mahindra Chain elevator Tax Code : GD GST: IN : IGST (18%) Delivery Date : 31.01.2022	NO 1	800000.00	800000.00
02	P112913 4800000842	TAIL UNIT ASSEMBLY Part Number:NBH-600D/109059 Drawing number : 3E1.BE01 Chain elevators Tax Code : GD GST: IN : IGST (18%) Delivery Date :31.01.2022	NO 1	664000.00	664000.00
03	P112914 4800000842	VERTICAL CASING Part Number:NBH-600D/109059 Drawing number : 3E1.BE01 Chain elevators Tax Code : GD GST: IN : IGST (18%) Delivery Date :31.01.2022	NO 16	96000.00	1536000.00
04	P112915 4800000842	WORK ACCESS CASING Part Number:NBH-600D/109059 Drawing number : 3E1.BE01 Chain elevators Tax Code : GD GST: IN : IGST (18%) Delivery Date :31.01.2022	NO 1	80000.00	80000.00
05	P112916 4800000842	ADJUSTABLE CASING Part Number:NBH-600D/109059 Drawing number : 3E1.BE01 Chain elevators Tax Code : GD GST: IN : IGST (18%)	NO 1	90000.00	90000.00
RA ^T Dt 21 TEI As 4. 30 Int Gua an Suf Gua an suf Orc 4.2 GS ^T be rec mat doo wit sta sta sta	05.2021. Per below: Terms of Payment: 10% of the Purce ance within (thirty) days acc rent / chase Order and arantee for equivalent amound omission nufacturing / exc red during der negotiation. 2 90% of the Purce shall released on pro- beipt of terial at Site and cumments along th material recession arantee invalent to 10% of c, on	chase Order price shall be released as gainst unconditional acceptance of Letter of against submission of an Advance Bank nt, as per clause no. 4.1 of GCC and on ecution schedule and other documents as chase Order price along with proportionate -rata basis within 30 days from the date of nd after receipt of complete dispatch ipt acknowledgement from owner with their th date. Supplier to submit performance bank of Contract price, as per clause no. 4.2 of lies and 5% on supplier's letter head.			

Page : 2 of 22 Code : 1110683 MAHINDRA TSUBAKI CONVEYOR SYSTEMS PVT.LTD. GAT NO.316 TO 319 VILLAGE AMBADVET TALUJA MULSHI AMBADVET 412108 DIST-PUNE Maharashtra		26.08.2021	
	Amendment-2	0	
Delivery Date :31.01.2022 BUCKETS Part Number:NBH-600D/109059 Drawing number : 3E1.BE01 Chain elevators Tax Code : GD GST: IN : IGST (18%) Delivery Date :31.01.2022	NO 202	7500.00	1515000.00
DRIVE BASE FRAME Part Number:NBH-600D/109059 Drawing number : 3E1.BE01 Chain elevators Tax Code : GD GST: IN : IGST (18%)	NO 1	20000.00	20000.00
LATERAL SUPPORTS Part Number:NBH-600D/109059 Drawing number : 3E1.BE01 Chain elevators Tax Code : GD GST: IN : IGST (18%)	NO 4	5000.00	20000.00
HARDWARE Part Number:NBH-600D/109059 Drawing number : 3E1.BE01 Chain elevators Tax Code : GD GST: IN : IGST (18%)	SE 1 T	20000.00	20000.00
COUPLING GUARDS Part Number:NBH-600D/109059 Drawing number : 3E1.BE01 Chain elevators	NO 2	4000.00	8000.00
O CONDITION AS PER LOI JCL/CPC/PO/21-22/47			
hase Order price shall be released as Ainst unconditional acceptance of Letter of Against submission of an Advance Bank 2, as per clause no. 4.1 of GCC and on Solution schedule and other documents as hase Order price along with proportionate stata basis within 30 days from the date of d after receipt of complete dispatch but acknowledgement from owner with their			
	9 VILLAGE MULSHI shtra Delivery Date : 31.01.2022 Buckers Part Number:NBH-600D/109059 Drawing number : 3E1.BE01 Chain elevators Tax Code : GD GST: IN : IGST (18%) Delivery Date : 31.01.2022 DRIVE BASE FRAME Part Number:NBH-600D/109059 Drawing number : 3E1.BE01 Chain elevators Tax Code : GD GST: IN : IGST (18%) Delivery Date : 31.01.2022 LATERAL SUPPORTS Part Number:NBH-600D/109059 Drawing number : 3E1.BE01 Chain elevators Tax Code : GD GST: IN : IGST (18%) Delivery Date : 31.01.2022 HARDWARE Part Number:NBH-600D/109059 Drawing number : 3E1.BE01 Chain elevators Tax Code : GD GST: IN : IGST (18%) Delivery Date : 31.01.2022 COUPLING GUARDS Part Number:NBH-600D/109059 Drawing number : 3E1.BE01 Chain elevators O CONDITION AS PER LOI JCL/CPC/P0/21-22/47 mase Order price shall be released as thist unconditional acceptance of Letter of against submission of an Advance Bank C, as per clause no. 4.1 of GCC and on aution schedule and other documents as mase Order price along with proportionate rata basis within 30 days from the date of a fatter receipt of complete dispatch	9 VILLAGE MULSHI shtra Amendment-2 Delivery Date : 31.01.2022 BUCKETS NO 202 Drawing number : 3E1.BE01 Chain elevators Tax Code : GD GST: IN : IGST (18%) Delivery Date : 31.01.2022 DRIVE BASE FRAME NO 1 Part Number:NBH-600D/109059 Drawing number : 3E1.BE01 Chain elevators Tax Code : GD GST: IN : IGST (18%) Delivery Date : 31.01.2022 HATENAL SUPPORTS NO 4 Drawing number : 3E1.BE01 Chain elevators Tax Code : GD GST: IN : IGST (18%) Delivery Date : 31.01.2022 HARDWARE SE 1 Drawing number : 3E1.BE01 Chain elevators Tax Code : GD GST: IN : IGST (18%) Delivery Date : 31.01.2022 HARDWARE SE 1 Drawing number : 3E1.BE01 Chain elevators Tax Code : GD GST: IN : IGST (18%) Delivery Date : 31.01.2022 COUPLING GUARDS NO 2 Part Number:NBH-600D/109059 NO 2 Part NUMBER Part Number:NBH-600D/109059 NO 2 Part Number:NBH-600D/109059 NO 2 Part Number:NBH-600D/109059 NO 2 Part Number:NBH-600D/109059 NO 2 Part NUMBER Part N	CONVEYOR SYSTEMS FVT.LTD. 9 VILLAGE MULSHI shtra Amendment-2 0 Delivery Date :31.01.2022 BUCKETS Part Number:NBH-600D/109059 Drawing number : 3EL.BE01 Chain elevators Tax Code : GD GST: IN : IGST (18%) Delivery Date :31.01.2022 DRIVE BASE FRAME Chain elevators Tax Code : GD GST: IN : IGST (18%) Delivery Date :31.01.2022 LATERAL SUPPORS Part Number:NBH-60D/109059 Drawing number : 3EL.BE01 Chain elevators Tax Code : GD GST: IN : IGST (18%) Delivery Date :31.01.2022 LATERAL SUPPORS Part Number:NBH-60D/109059 Tax Code : GD GST: IN : IGST (18%) Delivery Date :31.01.2022 MARDMARE Tax Code : GD GST: IN : IGST (18%) Delivery Date :31.01.2022 COUPLING GUARDS Part Number:NBH-60D/109059 Drawing number : 3EL.BE01 Chain elevators Tax Code : GD GST: IN : IGST (18%) Delivery Date :31.01.2022 COUPLING GUARDS Part Number:NBH-60D/109059 Drawing number : 3EL.BE01 Chain elevators COUPLING SUBS Part Number:NBH-60D/109059 Drawing number : 3EL.BE01 Chain elevators Part Number:NBH-60D/109059 Drawing number : 3EL.BE01 Chain elevators

guarantee equivalent to 10% of Contract price, as per clause no. 4.2 of GCC, on completion of supplies and 5% on supplier's letter head.

INCO TERMS : CIP PANNA PLANT

Page : 3 of 22 Code : 1110683 MAHINDRA TSUBAKI CONVEYOR SYSTEMS PVT.LTD. GAT NO.316 TO 319 VILLAGE AMBADVET TALUJA MULSHI AMBADVET 412108 DIST-PUNE Maharashtra			670000369	26.08.2	2021
D12	I-FUNE Manar	asiitta	Amendment-2	0	
11	P112922 4800000842	Tax Code : GD GST: IN : IGST (18%) Delivery Date :31.01.2022 ZERO SPEED SWITCH Part Number:NBH-600D/109059 Drawing number : 3E1.BE01 Tax Code : GD GST: IN : IGST (18%) Delivery Date :31.01.2022	NO 1	37000.00	37000.00
12	P112923 4800000842	SHOCK RELAY Part Number:NBH-600D/109059 Drawing number : 3E1.BE01 Chain elevators Tax Code : GD GST: IN : IGST (18%) Delivery Date : 31.01.2022	NO 1	8000.00	8000.00
13	P112924 4800000842	BOOT LEVEL INDICATOR Part Number:NBH-600D/109059 Drawing number : 3E1.BE01 Chain elevators Tax Code : GD GST: IN : IGST (18%) Delivery Date :31.01.2022	NO 2	51700.00	103400.00
14	P112925 4800000842	JUNCTION BOX	NO 2	3300.00	6600.00
15	P112926 4800000842	EXPANSION JOINTS Part Number:NBH-600D/109059 Drawing number : 3E1.BE01 Chain elevators	NO 2	20000.00	40000.00
RA1 Dt		ND CONDITION AS PER LOI JCL/CPC/PO/21-22/47			
As 4. 4.1 adv 30 Int Pur Gua an suk mar agr	vance within (thirty) days accent / cchase Order and arantee for equivalent amoun mission nufacturing / exe ceed during	t chase Order price shall be released as gainst unconditional acceptance of Letter of against submission of an Advance Bank ht, as per clause no. 4.1 of GCC and on ecution schedule and other documents as			
4.2 GST be rec mat doc wit sta sic gua equ GCC	P shall released on pro- ceipt of curvents along ch material recess amp and phature along with arantee livalent to 10% of C, on	chase Order price along with proportionate -rata basis within 30 days from the date of ad after receipt of complete dispatch ipt acknowledgement from owner with their th date. Supplier to submit performance bank of Contract price, as per clause no. 4.2 of			
	NDIETION OI SUPP. CO TERMS : CIP	lies and 5% on supplier's letter head. PANNA PLANT			

GAT NO.316 T MBADVET TAL MBADVET 412	0683 BAKI CONVEYOR SYSTEMS PVT.LTD. O 319 VILLAGE JUJA MULSHI 108	670000369	26.08	.2021
)IST-PUNE Ma	harashtra	Amendment-2	0	
16 P112927 48000008	<pre>Tax Code : GD GST: IN : IGST (18%) Delivery Date :31.01.2022 OUTPUT COUPLING 42 Part Number:NBH-600D/109059 Drawing number : 3E1.BE01 Chain elevators</pre>	NO 1	139000.00	139000.00
17 P112928 48000008	<pre>Tax Code : GD GST: IN : IGST (18%) Delivery Date :31.01.2022 GEAR BOX 42 Part Number:NBH-600D/109059 Drawing number : 3E1.BE01 Chain elevators</pre>	NO 1	1085000.00	1085000.00
18 P112929 48000008	Tax Code : GD GST: IN : IGST (18%) Delivery Date :31.01.2022 INPUT COUPLING	NO 1	79000.00	79000.00
19 P112930 48000008	Drawing number : 3E1.BE01 Chain elevators	NO 1	81000.00	81000.00
20 P112931 48000008	<pre>Tax Code : GD GST: IN : IGST (18%) Delivery Date :31.01.2022 JAW CLUTCH 42 Part Number:NBH-600D/109059 Drawing number : 3E1.BE01</pre>	NO 1	38000.00	38000.00
Dt. 21.05.2021. TERMS OF PAYMEN As per below: 4. Terms of Pay 4.1 10% of the advance within 30 (thirty) day Intent /	yment Purchase Order price shall be released as ys against unconditional acceptance of Letter of			
Guarantee for an equivalent a submission manufacturing , agreed during Order negotiat:				
GST shall be released on receipt of material at Sit documents along with material is stamp and	Purchase Order price along with proportionate pro-rata basis within 30 days from the date of te and after receipt of complete dispatch g receipt acknowledgement from owner with their g with date. Supplier to submit performance bank			
guarantee equivalent to 2 GCC, on completion of s	10% of Contract price, as per clause no. 4.2 of supplies and 5% on supplier's letter head. CIP PANNA PLANT			

GAT AMB AMB	e : 1110683	MULSHI	670000369	26.08.	.2021
DIG			Amendment-2	0	
21	P112932	Chain elevators Tax Code : GD GST: IN : IGST (18% Delivery Date : 31.01.2022 OIL SEAL FOR GEAER BOX) NO 1	30000.00	30000.00
	4800000842	Part Number:NBH-600D/109059 Drawing number : 3E1.BE01 Chain elevators Tax Code : GD GST: IN : IGST (18% Delivery Date :31.01.2022			
22	P112933 4800000842	HEAD UNIT ASSEMBLY Part Number:NBH-600D/109060 Drawing number : 3E2.BE01 Chain elevators Tax Code : GD GST: IN : IGST (18% Delivery Date :31.01.2022	NO 1	800000.00	800000.00
23	P112934 4800000842	TAIL UNIT ASSEMBLY Part Number:NBH-600D/109060 Drawing number : 3E2.BE01 Chain elevators Tax Code : GD GST: IN : IGST (18% Delivery Date :31.01.2022	NO 1	664000.00	664000.00
24	P112935 4800000842	VERTICAL CASING Part Number:NBH-600D/109060 Drawing number : 3E2.BE01 Chain elevators Tax Code : GD GST: IN : IGST (18% Delivery Date :31.01.2022	NO 16	96000.00	1536000.00
NOI RAI Dt. 21. TEF As 4. 4.1 adu 30 Int Fur Gua an	05.2021. MS OF PAYMENT : per below: Terms of Payment 10% of the Purc rance within (thirty) days ac ent / cohase Order and arantee for	ND CONDITION AS PER LOI JCL/CPC/PO/21-22/47	NO 1	80000.00	80000.00
agr Orc 4.2 GSI be rec mat doc wit sta sig gua equ GCO com	reed during ler negotiation. 90% of the Purch shall released on pro- eipt of errial at Site ar suments along h material receind mature along with mature along with rrantee ivalent to 10% of 5, on	ecution schedule and other documents as chase Order price along with proportionate erata basis within 30 days from the date of ad after receipt of complete dispatch left acknowledgement from owner with their th date. Supplier to submit performance bank of Contract price, as per clause no. 4.2 of lies and 5% on supplier's letter head. PANNA PLANT	:		

Page : 6 of 22 Code : 1110683 MAHINDRA TSUBAKI CONVEYOR SYSTEMS PVT.LTD. GAT NO.316 TO 319 VILLAGE AMBADVET TALUJA MULSHI AMBADVET 412108		6	700000369	26.08.	2021	
DIS	T-PUNE Mahar	rashtra	An	nendment-2	0	
		Drawing number : 3E2.BE01 Chain elevators Tax Code : GD GST: IN : IGST (18%) Delivery Date : 31.01.2022				
26	P112937 4800000842	ADJUSTABLE CASING Part Number:NBH-600D/109060 Drawing number : 3E2.BE01 Chain elevators Tax Code : GD GST: IN : IGST (18%) Delivery Date : 31.01.2022	NO	1	90000.00	90000.00
27	P112938 4800000842	BUCKETS Part Number:NBH-600D/109060 Drawing number : 3E2.BE01 Chain elevators Tax Code : GD GST: IN : IGST (18%) Delivery Date : 31.01.2022	NO	202	7500.00	1515000.00
28	P112939 4800000842	DRIVERY DATE .31.01.2022 DRIVE BASE FRAME Part Number:NBH-600D/109060 Drawing number : 3E2.BE01 Chain elevators Tax Code : GD GST: IN : IGST (18%) Delivery Date :31.01.2022	NO	1	20000.00	20000.00
29	P112940 4800000842	LATERAL SUPPORTS Part Number:NBH-600D/109060 Drawing number : 3E2.BE01 Chain elevators Tax Code : GD GST: IN : IGST (18%) Delivery Date : 31.01.2022	NO	4	5000.00	20000.00
30	P112941	HARDWARE	SE	1	20000.00	20000.00
RAT Dt.	YE : YES, ALL TERMS A 05.2021.	ND CONDITION AS PER LOI JCL/CPC/PO/21-22/47				
TER	MS OF PAYMENT : per below:					
4. 4.1	Terms of Paymen 10% of the Pur	t chase Order price shall be released as				
30	rance within (thirty) days a cent /	gainst unconditional acceptance of Letter of				
Pur		against submission of an Advance Bank				
sub	mission	nt, as per clause no. 4.1 of GCC and on				
agr	ufacturing / ex eed during ler negotiation.	ecution schedule and other documents as				
4.2 GST	90% of the Pur shall	chase Order price along with proportionate				
rec	eipt of	-rata basis within 30 days from the date of nd after receipt of complete dispatch				
doc	uments along	ipt acknowledgement from owner with their				
sig	mp and mature along wi mantee	th date. Supplier to submit performance bank				
equ		of Contract price, as per clause no. 4.2 of				
	pletion of supp	lies and 5% on supplier's letter head. PANNA PLANT				

Cod MAH GAT AMB	e : 7 of 22 e : 1110683 INDRA TSUBAK NO.316 TO 3 ADVET TALUJA ADVET 412108 T-PUNE Mahar	MULSHI	670000369	26.08.	2021
			Amendment-2	0	
	4800000842	Part Number:NBH-600D/109060 Drawing number : 3E2.BE01 Chain elevators Tax Code : GD GST: IN : IGST (18%) Delivery Date : 31.01.2022	Т		
31	P112942 4800000842	COUPLING GUARDS Part Number:NBH-600D/109060 Drawing number : 3E2.BE01 Chain elevators Tax Code : GD GST: IN : IGST (18%)	NO 2	4000.00	8000.00
32	P112943 4800000842	Delivery Date :31.01.2022 ZERO SPEED SWITCH Part Number:NBH-600D/109060 Drawing number : 3E2.BE01 Chain elevators Tax Code : GD GST: IN : IGST (18%)	NO 1	37000.00	37000.00
33	P112944 4800000842	Delivery Date :31.01.2022 SHOCK RELAY Part Number:NBH-600D/109060 Drawing number : 3E2.BE01 Chain elevators Tax Code : GD GST: IN : IGST (18%)	NO 1	8000.00	8000.00
34	P112945 4800000842	Delivery Date :31.01.2022 BOOT LEVEL INDICATOR Part Number:NBH-600D/109060 Drawing number : 3E2.BE01 Chain elevators Tax Code : GD GST: IN : IGST (18%) Delivery Date :31.01.2022	NO 2	51700.00	103400.00
Dt.	ES, ALL TERMS AN	ND CONDITION AS PER LOI JCL/CPC/PO/21-22/47			
As 4. 4.1 adv 30 Int Pur Gua an sub man ord 4.2 GST be rec mat doc	ance within (thirty) days agent chase Order and rantee for equivalent amour mission ufacturing / exe eed during er negotiation. 90% of the Purc shall released on pro- eipt of erial at Site ar uments along	chase Order price shall be released as gainst unconditional acceptance of Letter of against submission of an Advance Bank ht, as per clause no. 4.1 of GCC and on ecution schedule and other documents as chase Order price along with proportionate -rata basis within 30 days from the date of nd after receipt of complete dispatch ipt acknowledgement from owner with their			
sta sig gua equ GCC com	<pre>mp and nature along wit rantee ivalent to 10% c , on</pre>	th date. Supplier to submit performance bank of Contract price, as per clause no. 4.2 of lies and 5% on supplier's letter head.			

Cod MAH GAI AME AME	ge : 8 of 22 le : 1110683 INDRA TSUBAK NO.316 TO 3 ADVET TALUJA ADVET 412108 T-PUNE Mahar	I CONVEYOR SYSTEMS PVT.LTD. 19 VILLAGE MULSHI	670000369	26.08.	.2021
DIC		ashtra	Amendment-2	0	
35	P112946 4800000842	Drawing number : 3E2.BE01 Chain elevators Tax Code : GD GST: IN : IGST (18%)	NO 2	3300.00	6600.00
36	P112947 4800000842	Delivery Date :31.01.2022 EXPANSION JOINTS Part Number:NBH-600D/109060 Drawing number : 3E2.BE01 Chain elevators Tax Code : GD GST: IN : IGST (18%) Delivery Date :31.01.2022	NO 2	20000.00	40000.00
37	P112948 4800000842	OUTPUT COUPLING Part Number:NBH-600D/109060 Drawing number : 3E2.BE01 Chain elevators Tax Code : GD GST: IN : IGST (18%)	NO 1	139000.00	139000.00
38	P112949 4800000842	Delivery Date :31.01.2022 GEAR BOX Part Number:NBH-600D/109060 Drawing number : 3E2.BE01 Chain elevators Tax Code : GD GST: IN : IGST (18%)	NO 1	1085000.00	1085000.00
39	P112950 4800000842	Delivery Date :31.01.2022 INPUT COUPLING Part Number:NBH-600D/109060 Drawing number : 3E2.BE01 Chain elevators Tax Code : GD GST: IN : IGST (18%)	NO 1	79000.00	79000.00
RA' Dt		ND CONDITION AS PER LOI JCL/CPC/PO/21-22/47			
As 4. 4. 300 Int Pu: Gua an sul mat Orc 4. GS? be ree rea doo wit sta sta gua gua cor CC Cor	vance within (thirty) days as contained for equivalent amount omission nufacturing / exact reed during der negotiation. 2 90% of the Pure 7 shall released on pro- ceipt of cerial at Site and cumments along th material recent amp and mature along with arantee ivalent to 10% of C, on	chase Order price shall be released as gainst unconditional acceptance of Letter of against submission of an Advance Bank ht, as per clause no. 4.1 of GCC and on ecution schedule and other documents as chase Order price along with proportionate -rata basis within 30 days from the date of nd after receipt of complete dispatch ipt acknowledgement from owner with their th date. Supplier to submit performance bank of Contract price, as per clause no. 4.2 of lies and 5% on supplier's letter head.			

MAH GAT AMB AMB	le : 1110683	I CONVEYOR SYSTEMS PVT.LTD. 19 VILLAGE MULSHI	6700000369	26.08.	2021	
			Amendment-2	0		
40	P112951 4800000842	Delivery Date :31.01.2022 GEARED MOTOR Part Number:NBH-600D/109060 Drawing number : 3E2.BE01 Chain elevators Tax Code : GD GST: IN : IGST (18%) Delivery Date :31.01.2022	NO 1	81000.00	81000.00	
41	P112952 4800000842	JAW CLUTCH Part Number:NBH-600D/109060 Drawing number : 3E2.BE01 Chain elevators Tax Code : GD GST: IN : IGST (18%) Delivery Date : 31.01.2022	NO 1	38000.00	38000.00	
42	P112953 4800000842	OIL SEAL FOR GEAER BOX Part Number:NBH-600D/109060 Drawing number : 3E2.BE01 Chain elevators Tax Code : GD GST: IN : IGST (18%) Delivery Date : 31.01.2022	NO 1	30000.00	30000.00	
43	P112954 4800000842	HEAD UNIT ASSEMBLY Part Number:NBH-011D/109061 Drawing number : 3F1.BE01 Chain elevators Tax Code : GD GST: IN : IGST (18%) Delivery Date :31.01.2022	NO 1	3500000.00	3500000.00	
44	P112955 4800000842	TAIL UNIT ASSEMBLY Part Number:NBH-011D/109061 Drawing number : 3F1.BE01 Chain elevators	NO 1	2559500.00	2559500.00	
RAI Dt 21. TEI		ND CONDITION AS PER LOI JCL/CPC/PO/21-22/47				
4. 4.1	Terms of Payment	t chase Order price shall be released as				
Int Pui Gua	cent / cchase Order and arantee for	gainst unconditional acceptance of Letter of against submission of an Advance Bank				
suk mar agı	an equivalent amount, as per clause no. 4.1 of GCC and on submission manufacturing / execution schedule and other documents as agreed during					
4.2 GSI be	Order negotiation. 4.2 90% of the Purchase Order price along with proportionate GST shall be released on pro-rata basis within 30 days from the date of					
mat doc	cuments along	nd after receipt of complete dispatch ipt acknowledgement from owner with their				
siq gua	arantee	th date. Supplier to submit performance bank				
GCC cor	guarantee equivalent to 10% of Contract price, as per clause no. 4.2 of GCC, on completion of supplies and 5% on supplier's letter head. INCO TERMS : CIP PANNA PLANT					

Code MAHINDR SAT NO. MBADVE		I CONVEYOR SYSTEMS PVT.LTD. 19 VILLAGE MULSHI	670000369	26.08	.2021
)IST-PU	NE Mahar	ashtra	Amendment-2	0	
		Tax Code : GD GST: IN : IGST (18%) Delivery Date : 31.01.2022			
45 P11 480	2956 0000842	VERTICAL CASING Part Number:NBH-011D/109061 Drawing number : 3F1.BE01 Chain elevators	NO 16	200000.00	3200000.00
46 P11	2957	Tax Code : GD GST: IN : IGST (18%) Delivery Date :31.01.2022 WORK ACCESS CASING	NO 1	250000.00	250000.00
480	0000842	Part Number:NBH-011D/109061 Drawing number : 3F1.BE01 Chain elevators	Ĩ	230000.00	230000.00
		Tax Code : GD GST: IN : IGST (18%) Delivery Date :31.01.2022			
47 P11 480	2958 0000842	ADJUSTABLE CASING Part Number:NBH-011D/109061 Drawing number : 3F1.BE01 Chain elevators	NO 3	185000.00	555000.00
		Tax Code : GD GST: IN : IGST (18%) Delivery Date :31.01.2022			
48 P11 480	2959 0000842	BUCKETS Part Number:NBH-011D/109061 Drawing number : 3F1.BE01 Chain elevators	NO 165	18000.00	2970000.00
		Tax Code : GD GST: IN : IGST (18%) Delivery Date :31.01.2022			
49 P11 480	2960 0000842	DRIVE BASE FRAME Part Number:NBH-011D/109061 Drawing number : 3F1.BE01	NO 2	25000.00	50000.00
NOTE : RATES, A Dt.	LL TERMS AN	ND CONDITION AS PER LOI JCL/CPC/PO/21-22/47			
21.05.20	21. PAYMENT :				
As per b		-			
	of the Pure	chase Order price shall be released as			
	ty) days ag	gainst unconditional acceptance of Letter of			
	Order and	against submission of an Advance Bank			
an equiv submissi		nt, as per clause no. 4.1 of GCC and on			
	uring / exe	ecution schedule and other documents as			
	gotiation. of the Purc	chase Order price along with proportionate			
GST shal be relea		-rata basis within 30 days from the date of			
	at Site an	nd after receipt of complete dispatch			
document with mat		ipt acknowledgement from owner with their			
-	e along wit	th date. Supplier to submit performance bank			
		of Contract price, as per clause no. 4.2 of			
GCC, on completi	on of suppl	lies and 5% on supplier's letter head.			
INCO TE	RMS : CIP	PANNA PLANT			

Cod MAH GAT AMB AMB	NO.316 TO 3 ADVET TALUJA ADVET 412108	I CONVEYOR SYSTEMS PVT.LTD. 19 VILLAGE MULSHI	670000369	26.08.2	2021
DIS	T-PUNE Mahar	asntra	Amendment-2	0	
50	P112961 4800000842	Chain elevators Tax Code : GD GST: IN : IGST (18%) Delivery Date :31.01.2022 LATERAL SUPPORTS Part Number:NBH-011D/109061 Drawing number : 3F1.BE01 Chain elevators Tax Code : GD GST: IN : IGST (18%)	NO 4	6250.00	25000.00
51	P112962 4800000842	Delivery Date :31.01.2022 HARDWARE Part Number:NBH-011D/109061 Drawing number : 3F1.BE01 Chain elevators	SE 1 T	25000.00	25000.00
52	P112963 4800000842	Tax Code : GD GST: IN : IGST (18%) Delivery Date :31.01.2022 COUPLING GUARDS Part Number:NBH-011D/109061 Drawing number : 3F1.BE01 Chain elevators	NO 4	4500.00	18000.00
53	P112964 4800000842	Tax Code : GD GST: IN : IGST (18%) Delivery Date :31.01.2022 ZERO SPEED SWITCH Part Number:NBH-011D/109061 Drawing number : 3F1.BE01 Chain elevators	NO 1	37000.00	37000.00
	P112965 4800000842 YE :	Tax Code : GD GST: IN : IGST (18%) Delivery Date :31.01.2022 SHOCK RELAY Part Number:NBH-011D/109061	NO 1	8000.00	8000.00
Dt. 21.		ND CONDITION AS PER LOI JCL/CPC/PO/21-22/47			
4. 4.1 adv 30 Int Pur Gua	vance within (thirty) days age cent / cchase Order and arantee for	chase Order price shall be released as gainst unconditional acceptance of Letter of against submission of an Advance Bank ht, as per clause no. 4.1 of GCC and on			
man agr Ord 4.2 GSI be	eed during der negotiation. 2 90% of the Purc 2 shall released on pro-	ecution schedule and other documents as chase Order price along with proportionate -rata basis within 30 days from the date of			
mat doc wit sta	receipt of material at Site and after receipt of complete dispatch documents along with material receipt acknowledgement from owner with their stamp and signature along with date. Supplier to submit performance bank				
equ GCC com	ivalent to 10% d	of Contract price, as per clause no. 4.2 of lies and 5% on supplier's letter head. PANNA PLANT			

Code MAHI GAT AMBA AMBA	NO.316 TO 3 ADVET TALUJA ADVET 412108	I CONVEYOR SYSTEMS PVT.LTD. 19 VILLAGE MULSHI		670000369	26.08.	.2021
DISI	-PUNE Mahar	ashtra	A	mendment-2	0	
	P112966 4800000842	Drawing number : 3F1.BE01 Chain elevators Tax Code : GD GST: IN : IGST (18 ³ Delivery Date : 31.01.2022 BOOT LEVEL INDICATOR Part Number:NBH-011D/109061 Drawing number : 3F1.BE01		2	52000.00	104000.00
	P112967 4800000842	Chain elevators Tax Code : GD GST: IN : IGST (185 Delivery Date :31.01.2022 JUNCTION BOX Part Number:NBH-011D/109061		2	3500.00	7000.00
57	P112968	Drawing number : 3F1.BE01 Chain elevators Tax Code : GD GST: IN : IGST (185 Delivery Date : 31.01.2022 EXPANSION JOINTS	,	2		
	4800000842	Part Number:NBH-011D/109061 Drawing number : 3F1.BE01 Chain elevators Tax Code : GD GST: IN : IGST (18 ³ Delivery Date : 31.01.2022		2	24000.00	48000.00
	P112969 4800000842	OUTPUT COUPLING Part Number:NBH-011D/109061 Drawing number : 3F1.BE01 Chain elevators Tax Code : GD GST: IN : IGST (18 ³		2	236500.00	473000.00
59	P112970	Delivery Date :31.01.2022 GEAR BOX	NC	2	2750000.00	5500000.00
Dt. 21.0	ES, ALL TERMS AN 05.2021.	ND CONDITION AS PER LOI JCL/CPC/PO/21-22/47				
As p 4. 1 4.1	MS OF PAYMENT : per below: Terms of Payment 10% of the Purc ance within	c chase Order price shall be released as				
Inte Purc Guar	ent / chase Order and rantee for	gainst unconditional acceptance of Letter o against submission of an Advance Bank ht, as per clause no. 4.1 of GCC and on	f			
manu agre Orde 4.2	eed during er negotiation. 90% of the Pure	ecution schedule and other documents as chase Order price along with proportionate				
be r rece mate docu	eipt of erial at Site ar uments along	-rata basis within 30 days from the date of nd after receipt of complete dispatch				
stam sigr guar equi	mp and nature along wit rantee ivalent to 10% d	ipt acknowledgement from owner with their ch date. Supplier to submit performance ban of Contract price, as per clause no. 4.2 of				
-		lies and 5% on supplier's letter head. PANNA PLANT				

Cod MAH GAT AMB AMB	NO.316 TO 3 ADVET TALUJA ADVET 412108	I CONVEYOR SYSTEMS PVT.LTD. 19 VILLAGE MULSHI	670000369	26.08.	2021	
DIS	T-PUNE Mahar	ashtra	Amendment-2	0		
	4800000842	Part Number:NBH-011D/109061 Drawing number : 3F1.BE01 Chain elevators Tax Code : GD GST: IN : IGST (18%)				
60	P112971 4800000842	Delivery Date :31.01.2022 INPUT COUPLING Part Number:NBH-011D/109061 Drawing number : 3F1.BE01 Chain elevators	NO 2	78500.00	157000.00	
		Tax Code : GD GST: IN : IGST (18%) Delivery Date :31.01.2022				
61	P112972 4800000842	GEARED MOTOR Part Number:NBH-011D/109061 Drawing number : 3F1.BE01 Chain elevators	NO 2	134000.00	268000.00	
62	P112973 4800000842	Tax Code : GD GST: IN : IGST (18%) Delivery Date :31.01.2022 JAW CLUTCH Part Number:NBH-011D/109061	NO 2	65000.00	130000.00	
		Drawing number : 3F1.BE01 Chain elevators Tax Code : GD GST: IN : IGST (18%) Delivery Date : 31.01.2022				
63	P112974 4800000842	OIL SEAL FOR GEAER BOX Part Number:NBH-011D/109061 Drawing number : 3F1.BE01 Chain elevators Tax Code : GD GST: IN : IGST (18%) Delivery Date : 31.01.2022	NO 1	58000.00	58000.00	
RA1 Dt.		ND CONDITION AS PER LOI JCL/CPC/PO/21-22/47				
TEF	.05.2021. RMS OF PAYMENT :					
4.	per below: Terms of Payment	: chase Order price shall be released as				
adv	vance within	gainst unconditional acceptance of Letter of				
Pur		against submission of an Advance Bank				
an	arantee for equivalent amour omission	nt, as per clause no. 4.1 of GCC and on				
mar agı	nufacturing / exe ceed during	ecution schedule and other documents as				
4.2	der negotiation. 2 90% of the Purc 7 shall	chase Order price along with proportionate				
be released on pro-rata basis within 30 days from the date of receipt of						
doc	cuments along	nd after receipt of complete dispatch				
sta	amp and	ipt acknowledgement from owner with their the date. Supplier to submit performance bank				
gua equ	arantee wivalent to 10% o	of Contract price, as per clause no. 4.2 of				
con		lies and 5% on supplier's letter head.				
INC	INCO TERMS : CIP PANNA PLANT					

GAT AMB AMB	le : 1110683	I CONVEYOR SYSTEMS PVT.LTD. 19 VILLAGE MULSHI	6700000369	26.08.	.2021	
			Amendment-2	0		
64	P112975 4800000842	HEAD UNIT ASSEMBLY Part Number:NBH-011D/109062 Drawing number : 3F2.BE01 Chain elevators Tax Code : GD GST: IN : IGST (18%) Delivery Date : 31.01.2022	NO 1	3500000.00	3500000.00	
65	P112976 4800000842	TAIL UNIT ASSEMBLY Part Number:NBH-011D/109062 Drawing number : 3F2.BE01 Chain elevators Tax Code : GD GST: IN : IGST (18%) Delivery Date : 31.01.2022	NO 1	2559500.00	2559500.00	
66	P112977 4800000842	VERTICAL CASING Part Number:NBH-011D/109062 Drawing number : 3F2.BE01 Chain elevators Tax Code : GD GST: IN : IGST (18%) Delivery Date :31.01.2022	NO 16	200000.00	3200000.00	
67	P112978 4800000842	WORK ACCESS CASING Part Number:NBH-011D/109062 Drawing number : 3F2.BE01 Chain elevators Tax Code : GD GST: IN : IGST (18%) Delivery Date :31.01.2022	NO 1	250000.00	250000.00	
68	P112979 4800000842	ADJUSTABLE CASING Part Number:NBH-011D/109062 Drawing number : 3F2.BE01 Chain elevators Tax Code : GD GST: IN : IGST (18%)	NO 3	185000.00	555000.00	
RAT Dt. 21. As 4. 4. 30 Int Pun Gua an sub mar agn Orco 4.2 GST be reco mat doc wita sig	05.2021. XMS OF PAYMENT : per below: Terms of Payment 10% of the Purc vance within (thirty) days ac ternt / chase Order and arantee for equivalent amoun mission nufacturing / exe reed during der negotiation. 2 90% of the Purc Shall released on pro- ceipt of cerial at Site ar cuments along th material rece: mp and gnature along with	ND CONDITION AS PER LOI JCL/CPC/PO/21-22/47 Chase Order price shall be released as gainst unconditional acceptance of Letter of against submission of an Advance Bank ht, as per clause no. 4.1 of GCC and on ecution schedule and other documents as chase Order price along with proportionate -rata basis within 30 days from the date of nd after receipt of complete dispatch hipt acknowledgement from owner with their th date. Supplier to submit performance bank				
equ GC(cor	<pre>guarantee equivalent to 10% of Contract price, as per clause no. 4.2 of GCC, on completion of supplies and 5% on supplier's letter head. INCO TERMS : CIP PANNA PLANT</pre>					

Page : 15 of Code : 11106 MAHINDRA TSUB GAT NO.316 TO AMBADVET TALU AMBADVET 4121 DIST-PUNE Mah	83 AKI CONVEYOR SYSTEMS PVT.LTD. 319 VILLAGE JA MULSHI 08	670000369	26.08.2021
		Amendment-2	0
69 P112980	Delivery Date :31.01.2022	NO 165	

69	4800000842	BUCKETS Part Number:NBH-011D/109062 Drawing number : 3F2.BE01 Chain elevators Tax Code : GD GST: IN : IGST Delivery Date : 31.01.2022		165	18000.00 2	2970000.00
70	P112981 4800000842	DRIVE BASE FRAME Part Number:NBH-011D/109062 Drawing number : 3F2.BE01 Chain elevators Tax Code : GD GST: IN : IGST Delivery Date : 31.01.2022	NO (18%)	2	25000.00	50000.00
71	P112982 4800000842	LATERAL SUPPORTS Part Number:NBH-011D/109062 Drawing number : 3F2.BE01 Chain elevators Tax Code : GD GST: IN : IGST Delivery Date :31.01.2022	NO (18%)	4	6250.00	25000.00
72	P112983 4800000842	HARDWARE Part Number:NBH-011D/109062 Drawing number : 3F2.BE01 Chain elevators Tax Code : GD GST: IN : IGST Delivery Date : 31.01.2022	SE T (18%)	1	25000.00	25000.00
73	P112984 4800000842	COUPLING GUARDS Part Number:NBH-011D/109062 Drawing number : 3F2.BE01 Chain elevators	NO	4	4500.00	18000.00

NOTE :

RATES, ALL TERMS AND CONDITION AS PER LOI JCL/CPC/PO/21-22/47 Dt. 21.05.2021. TERMS OF PAYMENT : As per below: 4. Terms of Payment 4.1 10% of the Purchase Order price shall be released as advance within 30 (thirty) days against unconditional acceptance of Letter of Intent / Purchase Order and against submission of an Advance Bank Guarantee for an equivalent amount, as per clause no. 4.1 of GCC and on submission manufacturing $\space{-1.5}$ execution schedule and other documents as agreed during

Order negotiation. 4.2 90% of the Purchase Order price along with proportionate GST shall be released on pro-rata basis within 30 days from the date of receipt of material at Site and after receipt of complete dispatch documents along

with material receipt acknowledgement from owner with their stamp and signature along with date. Supplier to submit performance bank guarantee equivalent to 10% of Contract price, as per clause no. 4.2 of

GCC, on completion of supplies and 5% on supplier's letter head.

INCO TERMS : CIP PANNA PLANT

Page : 16 of 22 Code : 1110683 MAHINDRA TSUBAKI CONVEYOR SYSTEMS PVT.LTD. GAT NO.316 TO 319 VILLAGE AMBADVET TALUJA MULSHI AMBADVET 412108		670000369	26.08.2021	
DIST-PUNE Maha		Amendment-2	0	
	Tax Code : GD GST: IN : IGST (18%) Delivery Date :31.01.2022			
74 P112985 4800000842	ZERO SPEED SWITCH Part Number:NBH-011D/109062 Drawing number : 3F2.BE01 Chain elevators Tax Code : GD GST: IN : IGST (18%) Delivery Date : 31.01.2022	NO 1	37000.00	37000.00
75 P112986 4800000842	SHOCK RELAY Part Number:NBH-011D/109062 Drawing number : 3F2.BE01 Chain elevators Tax Code : GD GST: IN : IGST (18%)	NO 1	8000.00	8000.00
76 P112987 4800000842	Delivery Date :31.01.2022 BOOT LEVEL INDICATOR Part Number:NBH-011D/109062 Drawing number : 3F2.BE01 Chain elevators Tax Code : GD GST: IN : IGST (18%)	NO 2	52000.00	104000.00
77 P112988 4800000842	Delivery Date :31.01.2022 JUNCTION BOX Part Number:NBH-011D/109062 Drawing number : 3F2.BE01 Chain elevators Tax Code : GD GST: IN : IGST (18%)	NO 2	3500.00	7000.00
78 P112989 4800000842	Delivery Date :31.01.2022 EXPANSION JOINTS Part Number:NBH-011D/109062 Drawing number : 3F2.BE01	NO 2	24000.00	48000.00
NOTE : RATES, ALL TERMS A Dt. 21.05.2021.	AND CONDITION AS PER LOI JCL/CPC/PO/21-22/47			
advance within 30 (thirty) days a Intent / Purchase Order and Guarantee for an equivalent amou submission manufacturing / ex agreed during Order negotiation. 4.2 90% of the Pur GST shall be released on pro- receipt of material at Site a documents along with material rece stamp and signature along wi guarantee equivalent to 10% GCC, on	nt schase Order price shall be released as against unconditional acceptance of Letter of a against submission of an Advance Bank ant, as per clause no. 4.1 of GCC and on secution schedule and other documents as			
INCO TERMS : CIE	PANNA PLANT			

Page : 17 of 22 Code : 1110683 MAHINDRA TSUBAKI CONVEYOR SYSTEMS PVT.LTD. GAT NO.316 TO 319 VILLAGE AMBADVET TALUJA MULSHI AMBADVET 412108		670000369	26.08.2021	
DIST-PUNE Mahar	ashtra	Amendment-2	0	
79 P112990 4800000842	Chain elevators Tax Code : GD GST: IN : IGST (18%) Delivery Date : 31.01.2022 OUTPUT COUPLING Part Number:NBH-011D/109062 Drawing number : 3F2.BE01 Chain elevators	NO 2	236500.00	473000.00
80 P112991 4800000842	Tax Code : GD GST: IN : IGST (18%) Delivery Date :31.01.2022 GEAR BOX Part Number:NBH-011D/109062 Drawing number : 3F2.BE01	NO 2	2750000.00	5500000.00
81 P112992 4800000842	Chain elevators Tax Code : GD GST: IN : IGST (18%) Delivery Date :31.01.2022 INPUT COUPLING Part Number:NBH-011D/109062 Drawing number : 3F2.BE01	NO 2	78500.00	157000.00
82 P112993 4800000842	Chain elevators Tax Code : GD GST: IN : IGST (18%) Delivery Date :31.01.2022 GEARED MOTOR Part Number:NBH-011D/109062 Drawing number : 3F2.BE01	NO 2	134000.00	268000.00
83 P112994 4800000842	Chain elevators Tax Code : GD GST: IN : IGST (18%) Delivery Date : 31.01.2022 JAW CLUTCH Part Number:NBH-011D/109062	NO 2	65000.00	130000.00
NOTE : RATES, ALL TERMS AN Dt. 21.05.2021. TERMS OF PAYMENT :	ND CONDITION AS PER LOI JCL/CPC/PO/21-22/47			
advance within 30 (thirty) days ag Intent /	chase Order price shall be released as gainst unconditional acceptance of Letter of against submission of an Advance Bank			
Guarantee for an equivalent amour submission manufacturing / exe agreed during Order negotiation.	nt, as per clause no. 4.1 of GCC and on ecution schedule and other documents as chase Order price along with proportionate			
GST shall be released on pro- receipt of material at Site ar documents along with material rece:	-rata basis within 30 days from the date of nd after receipt of complete dispatch ipt acknowledgement from owner with their			
guarantee equivalent to 10% o GCC, on	th date. Supplier to submit performance bank of Contract price, as per clause no. 4.2 of Lies and 5% on supplier's letter head. PANNA PLANT			

Cod MAH GAT AMB AMB	ge : 18 of 2 le : 1110683 INDRA TSUBAR NO.316 TO 3 ADVET TALUJA ADVET 412108 T-PUNE Mahar	XI CONVEYOR SYSTEMS PVT.LTD. 319 VILLAGE A MULSHI	670000369	26.08.	2021	
DIP	T-PONE Manar	ashtra	Amendment-2	0		
84	P112995 4800000842	Drawing number : 3F2.BE01 Chain elevators Tax Code : GD GST: IN : IGST (18%) Delivery Date : 31.01.2022 OIL SEAL FOR GEAER BOX Part Number:NBH-011D/109062	NO 1	58000.00	58000.00	
		Drawing number : 3F2.BE01 Chain elevators Tax Code : GD GST: IN : IGST (18%) Delivery Date : 31.01.2022				
85	P112996 4800000842	HEAD UNIT ASSEMBLY Part Number:NBH-450HC/109063 Drawing number : 4E1.BE01 Chain elevators Tax Code : GD GST: IN : IGST (18%) Delivery Date : 31.01.2022	NO 1	702000.00	702000.00	
86	P112997 4800000842	TAIL UNIT ASSEMBLY Part Number:NBH-450HC/109063 Drawing number : 4E1.BE01 Chain elevators Tax Code : GD GST: IN : IGST (18%) Delivery Date :31.01.2022	NO 1	649000.00	649000.00	
87	P112998 4800000842	VERTICAL CASING Part Number:NBH-450HC/109063 Drawing number : 4E1.BE01 Chain elevators Tax Code : GD GST: IN : IGST (18%) Delivery Date : 31.01.2022	NO 8	82000.00	656000.00	
88	P112999	WORK ACCESS CASING	NO 1	75000.00	75000.00	
RAI Dt.	TE : TES, ALL TERMS A 05.2021.	ND CONDITION AS PER LOI JCL/CPC/PO/21-22/47				
	MS OF PAYMENT : per below:					
4.	Terms of Paymen	t chase Order price shall be released as				
30		gainst unconditional acceptance of Letter of				
Pur	cent / cchase Order and arantee for	against submission of an Advance Bank				
an		nt, as per clause no. 4.1 of GCC and on				
mar		ecution schedule and other documents as				
4.2		chase Order price along with proportionate				
be	' shall released on pro ceipt of	-rata basis within 30 days from the date of				
mat doc	cerial at Site a cuments along	nd after receipt of complete dispatch				
sta	amp and	ipt acknowledgement from owner with their				
gua	arantee	th date. Supplier to submit performance bank of Contract price, as per clause no. 4.2 of				
GCC	C, on	lies and 5% on supplier's letter head.				
INC	INCO TERMS : CIP PANNA PLANT					

GAT AMB AMB	le : 1110683 INDRA TSUBAK NO.316 TO 3 ADVET TALUJA ADVET 412108	I CONVEYOR SYSTEMS PVT.LTD. 19 VILLAGE MULSHI	670000369	26.08.	2021
DIS	T-PUNE Mahar	ashtra	Amendment-2	0	
	4800000842	Drawing number : 4E1.BE01 Chain elevators Tax Code : GD GST: IN : IGST (18%)		
89	P113000 4800000842	Delivery Date :31.01.2022 ADJUSTABLE CASING Part Number:NBH-450HC/109063 Drawing number : 4E1.BE01 Chain elevators Tax Code : GD GST: IN : IGST (18%	NO 2	80000.00	160000.00
90	P113001 4800000842	Delivery Date :31.01.2022 BUCKETS Part Number:NBH-450HC/109063 Drawing number : 4E1.BE01 Chain elevators Tax Code : GD GST: IN : IGST (18%	NO 166	4850.00	805100.00
91	P113002 4800000842	Delivery Date :31.01.2022 DRIVE BASE FRAME Part Number:NBH-450HC/109063 Drawing number : 4E1.BE01 Chain elevators Tax Code : GD GST: IN : IGST (18%	NO 1	20000.00	20000.00
92	P113003 4800000842	Delivery Date :31.01.2022 LATERAL SUPPORTS Part Number:NBH-450HC/109063 Drawing number : 4E1.BE01 Chain elevators Tax Code : GD GST: IN : IGST (18% Delivery Date :31.01.2022	NO 4	5000.00	20000.00
RAI Dt.		ND CONDITION AS PER LOI JCL/CPC/PO/21-22/47			
As 4.1 adv 30 Int Pur Gua an suk magr Orc 4.2 GST be c rec wit sta sign gua GCC com	vance within (thirty) days ag control of the second second equivalent amount omission nufacturing / exec ceed during der negotiation. 2 90% of the Purce f shall released on pro- ceipt of cerial at Site and cuments along th material recent amp and gnature along with arantee hivalent to 10% of C, on mpletion of supplet	chase Order price shall be released as gainst unconditional acceptance of Letter of against submission of an Advance Bank ht, as per clause no. 4.1 of GCC and on ecution schedule and other documents as chase Order price along with proportionate -rata basis within 30 days from the date of nd after receipt of complete dispatch htpt acknowledgement from owner with their th date. Supplier to submit performance bank of Contract price, as per clause no. 4.2 of lies and 5% on supplier's letter head.			
INC	CO TERMS : CIP	PANNA PLANT			

MAHI GAT AMBA AMBA	e : 1110683	I CONVEYOR SYSTEMS PVT.LTD. 19 VILLAGE MULSHI	670000369	26.08.2	2021
2101			Amendment-2	0	
93	P113004 4800000842	HARDWARE Part Number:NBH-450HC/109063 Drawing number : 4E1.BE01 Chain elevators Tax Code : GD GST: IN : IGST (18% Delivery Date : 31.01.2022	SE 1 T	20000.00	20000.00
94	P113005 4800000842	COUPLING GUARDS	NO 2	4000.00	8000.00
95	P113006 4800000842	ZERO SPEED SWITCH Part Number:NBH-450HC/109063 Drawing number : 4E1.BE01 Chain elevators Tax Code : GD GST: IN : IGST (18% Delivery Date :31.01.2022	NO <u>1</u>	37000.00	37000.00
96	P113008 4800000842	BOOT LEVEL INDICATOR Part Number:NBH-450HC/109063 Drawing number : 4E1.BE01 Chain elevators Tax Code : GD GST: IN : IGST (18% Delivery Date :31.01.2022	NO 2	52000.00	104000.00
97	P113009 4800000842	JUNCTION BOX Part Number:NBH-450HC/109063 Drawing number : 4E1.BE01 Chain elevators Tax Code : GD GST: IN : IGST (18%	NO 2	3500.00	7000.00
Dt.	ES, ALL TERMS AN	ND CONDITION AS PER LOI JCL/CPC/PO/21-22/47			
As 1 4. 1 adva 30 Inte Pure Gua: an e subr mann agre Orde 4.2 GST be : recc doct with star sign gua: com	ance within (thirty) days agent chase Order and rantee for equivalent amoun mission ufacturing / exe eed during er negotiation. 90% of the Purce shall released on pro- eipt of erial at Site an uments along a material rece: mp and nature along with rantee ivalent to 10% of , on	chase Order price shall be released as gainst unconditional acceptance of Letter or against submission of an Advance Bank ht, as per clause no. 4.1 of GCC and on ecution schedule and other documents as chase Order price along with proportionate erata basis within 30 days from the date of ad after receipt of complete dispatch htp acknowledgement from owner with their ch date. Supplier to submit performance bank of Contract price, as per clause no. 4.2 of lies and 5% on supplier's letter head.			

Page : 21 of 22 Code : 1110683 MAHINDRA TSUBAKI CONVEYOR SYSTEMS PVT.LTD. GAT NO.316 TO 319 VILLAGE AMBADVET TALUJA MULSHI AMBADVET 412108 DIST-PUNE Maharashtra			é	5700000369	26.08.	2021
			Aı	mendment-2	0	
98	P113010 4800000842	Delivery Date :31.01.2022 EXPANSION JOINTS Part Number:NBH-450HC/109063 Drawing number : 4E1.BE01 Chain elevators Tax Code : GD GST: IN : IGST (18%) Delivery Date :31.01.2022		2	19000.00	38000.00
99	P113011 4800000842	OUTPUT COUPLING Part Number:NBH-450HC/109063 Drawing number : 4E1.BE01 Chain elevators Tax Code : GD GST: IN : IGST (18%) Delivery Date :31.01.2022		1	25000.00	25000.00
00	P113012 4800000842	GEAR BOX Part Number:NBH-450HC/109063 Drawing number : 4E1.BE01 Chain elevators Tax Code : GD GST: IN : IGST (18%) Delivery Date :31.01.2022		1	332900.00	332900.00
01	P113013 4800000842	INPUT COUPLING Part Number:NBH-450HC/109063 Drawing number : 4E1.BE01 Chain elevators Tax Code : GD GST: IN : IGST (18%) Delivery Date :31.01.2022		1	45000.00	45000.00
02	P113014 4800000842	GEARED MOTOR Part Number:NBH-450HC/109063 Drawing number : 4E1.BE01 Chain elevators	NO	1	41000.00	41000.00
RAI Dt.		ND CONDITION AS PER LOI JCL/CPC/PO/21-22/47				
As 4. 4.1 adv 30	ance within	t chase Order price shall be released as gainst unconditional acceptance of Letter of				
Pur Gua an sub man agr	cchase Order and arantee for equivalent amoun omission	against submission of an Advance Bank ht, as per clause no. 4.1 of GCC and on ecution schedule and other documents as				
GSI be	' shall released on pro-	chase Order price along with proportionate -rata basis within 30 days from the date of				
mat doc wit sta	cuments along th material rece: amp and	nd after receipt of complete dispatch ipt acknowledgement from owner with their				
gua equ	arantee aivalent to 10% o	th date. Supplier to submit performance bank of Contract price, as per clause no. 4.2 of				
	GCC, on completion of supplies and 5% on supplier's letter head. INCO TERMS : CIP PANNA PLANT					

MAH GAT AMB AMB	le : 1110683	I CONVEYOR SYSTEMS PVT.LTD. 19 VILLAGE MULSHI	670000369		8.2021
			Amendment-2	0	
03	P113015 4800000842	Tax Code : GD GST: IN : IGST Delivery Date :31.01.2022 JAW CLUTCH Part Number:NBH-450HC/109063 Drawing number : 4E1.BE01	(18%) NO 1	37000.00	37000.00
		Chain elevators Tax Code : GD GST: IN : IGST Delivery Date : 31.01.2022	(18%)		
04	P113016 4800000842	OIL SEAL FOR GEAER BOX Part Number:NBH-450HC/109063 Drawing number : 4E1.BE01 Chain elevators Tax Code : GD GST: IN : IGST Delevator : 101 2022	NO 2	9000.00	18000.00
		Delivery Date : 31.01.2022		Gross Value:	56485000.00
				Discount :	0.00
				Total Amount:	56485000.00
				IGST	10,167,300.00
				Total PO value:	66652300.00

Dt. 21.05.2021. TERMS OF PAYMENT : As per below: 4. Terms of Payment 4.1 10% of the Purchase Order price shall be released as advance within 30 (thirty) days against unconditional acceptance of Letter of Intent / Purchase Order and against submission of an Advance Bank Guarantee for an equivalent amount, as per clause no. 4.1 of GCC and on submission manufacturing $\space{-1.5}$ execution schedule and other documents as agreed during Order negotiation. 4.2 90% of the Purchase Order price along with proportionate GST shall be released on pro-rata basis within 30 days from the date of receipt of material at Site and after receipt of complete dispatch documents along with material receipt acknowledgement from owner with their stamp and signature along with date. Supplier to submit performance bank guarantee equivalent to 10% of Contract price, as per clause no. 4.2 of GCC, on completion of supplies and 5% on supplier's letter head. INCO TERMS : CIP PANNA PLANT

RATES, ALL TERMS AND CONDITION AS PER LOI JCL/CPC/PO/21-22/47

NOTE :